Kansas Corporation Commission. Oil & Gas Conservation Division

ORIGINAL

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filted

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # API	No. 15
DIGUA DETDO INC. DEGENAR	Description:
Address 1: 1331 XYLAN RD SV	V SW NW SW Sec. 16 Twp. 24 S. R. 16 ▼ East West
SEP 1 E 2011	560 Feet from North / South Line of Section
	Feet from East / West Line of Section
NGC WICHIA	lages Calculated from Nearest Outside Section Corner:
Phone: (620) 433-0099	
	□ NE □ NW □ SE □ SW
CONTRACTOR: License # 32079 Cou	nty: WOODSON WINGRAVE 43-11
Name: LEIS OIL SERVICES Leas	se Name: WINGRAVE Well #: 43-11
_	d Name: VERNON
	ducing Formation: SQUIRREL
Designate Type of Completion: Elev	ration: Ground: 1061 EST Kelly Bushing:
<u> </u>	I Depth: 1102 Plug Back Total Depth:
[7] Oil ☐ WSW ☐ SWD ☐ SIOW Amo	ount of Surface Pipe Set and Cemented at: 42 Feet
	tiple Stage Cementing Collar Used? 🔲 Yes 🛂 No
☐ OG ☐ GSW ☐ Temp. Abd. If ye	es, show depth set: Feet
CM (Coal Bed Methene)	ternate II completion, cement circulated from: 10 98
Cathodic Other (Core, Expl., etc.):	depth to: SURFACE w/ & 135 sx cmt.
If Workover/Re-entry: Old Well Info as follows:	·
Operator:	Une Child Management Disp
1	Ilng Fluid Management Plan a must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	oride content; ppm Fluid volume; bbls
December 1 Re-part 1 Copy to ENHR 1 Copy to SWD	- ·
Conv. to GSW	vatering method used:
Plug Back: Plug Back Total Depth Loc	ation of fluid disposal if hauled offsite:
Commingled Permit #:Ope	erator Name:
Dual Completion Permit #:	se Name:License #:
C SWD Permit #:	arterSec TwpS. R
[ENHR Permit #:	
GSW Permit #:	unty: Permit #:
8/4/11 8/5/11 8/15/11	
Spud Date or Date Reached TD Completion Date or Recompletion Date	
INSTRUCTIONS: An original and two copies of this form shall be filed with the Ka Kansas 67202, within 120 days of the spud date, recompletion, workover or conversion of side two of this form will be held confidential for a period of 12 months if requested tiality in excess of 12 months). One copy of all wireline logs and geologist well report BE ATTACHED. Submit CP-4 form with all plugged wells. Submit CP-111 form with	on of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information I in writing and submitted with the form (see rule 82-3-107 for confident shall be attached with this form. ALL CEMENTING TICKETS MUST
AFFIDAVIT	KCC Office Use ONLY
I am the affiant and I hereby certify that all requirements of the statutes, rules and regu-	
lations promulgated to regulate the oil and gas industry have been fully complied with	Letter of Confidentiality Received Date:
and the statements herein are complete and correct to the best of my knowledge.	Confidential Release Date:
•	Wireling Log Received

Geologist Report Received

UIC Distribution

Side Two

Operator Name: PIQUA PETRO, INC.				_ Lease	Name: _	WINGRAVE		Well #: <u>43</u>	<u>-11</u>	
Sec. 16 Twp.24	s. R. <u>16</u>	✓ East		Count	y: WOC	DSON				
INSTRUCTIONS: Shitime tool open and clorecovery, and flow rate line Logs surveyed. A	osed, flowing and shu es if gas to surface te	t-in pressu st, along v	ires, whether st vith final chart(s	hut-in pre	ssure read	ched static tevel,	hydrostatic pressu	ıres, bottom l	hole temp	erature, fluid
Drill Stem Tests Taken (Attach Additional S		Ye	s No		⊘ La		n (Top), Depth and	Datum		Sample
Samples Sent to Geo	logical Survey	<u></u>	s 🗌 No		Nam	9		Тор	C	Datum
Cores Taken Electric Log Run Electric Log Submitted (If no, Submit Copy	•	☐ Ye	s 🔲 No							
List All E. Logs Run: GAMMA RAY/N	IEUTRON									
		Repo		RECORD		w Used	on, etc.		***************************************	
Purpose of String	Size Hole Drilled		e Casing (in O.D.)		eight s./Ft.	Setting Depth	Type of Cement	# Sacks Used		and Percent dditives
SURFACE	12"	7*				42	REG	8		
LONGSTRING	5 5/8"	2 7/8"				1098	60/40 POZ MIX	135	4% GE	L, 1% CACL
TUBING		1"				TO SEATING NIPPLE				
			ADDITIONAL	CEMENT	ING / SQL	JEEZE RECORD		<u> </u>		
Purpose: —— Perforate	Depth Top Bottom	Туре	of Cement	# Sad	ks Used		Type and Pe	rcent Additives		
Protect Casing Plug Back TD Plug Off Zone					·			*.*.	*************************************	
				L,		 				
Shots Per Foot			RD - Bridge Plug Each Interval Perl		•		cture, Shot, Cement nount and Kind of Mal		rd	Depth
1 EVERY 9 IN	PERF FROM 100	3 TO 10	08 W/ 8 SHO	rs						
	PERF FROM 104	5 TO 10	54 W/13 SHO	TS						
		···							-REM	- N an
									11LU	IVED
									SEP 1	5 2011
TUBING RECORD:	Size:	Set At:		Packer	At:	Liner Run:	Yes 📝 No	KC	C W	5 2011 CHITA
Date of First, Resumed 8/15/11	Production, SWD or EN	HR.	Producing Meth	h od : Pump	olng 🔲	Gas Lift C	Other (Explain)		<u> </u>	
Estimated Production Per 24 Hours	Oil 1	Bbls.	Gas	Mcf	Wat	er Bi	bls. G	as-Oil Ratio		Gravity 32
DISPOSITI	ON OF GAS:	<u> </u>		METHOD (OF COMPLI	ETION:		PRODUCT	ION INTER	VAL:
Vented Solo	d Used on Lease		Open Hole	Perf.	Dually (Submit		nmingled mit ACO-4)			
(If vented, Submit ACO-18.)						·				



LEIS OIL SERVICES

111 East Mary • Yates Center, Kansas 66783 • (620) 625-3676

API #: 207-27896-0000
Lease: Wingrave
Well #: 43-11
Spud Date: 8-4-11 Completed: 8-5-11
Location: SW-SW-NW-SW of 16-24-16E
1560 Feet From South
170 Feet From West
County: Woodson

LOG

Thickness	Strata	From	To	Thickness	Strata	From	To
8	Soil and Clay	0	8	5	Lime	979	984
177	Shale	8	185	44	Shale	984	995
55	Lime	185	240	2	Lime	995	997
7	Shale	240	247	2	Shale	997	999
204	Lime	247	451	1	Lime	999	1000
28	Shale	451	479	2	Shale	1000	1002
3	Lime	479	482	5	Oil Sand	1002	1007
35	Shale	482	517	32	Shale	1007	1039
75	Lime	517	592	1	Lime	1039	1040
10	Shale	592	602	4	Shale	1040	1044
18	Lime	602	620	1	Lime	1044	1045
5	Shale	620	625	1	Shale	1045	1046
26	Lime	625	651	6	Oil Sand	1046	1052
159	Shale	651	810	4	Sandy Shale	1052	1056
4	Lime	810	814	46	Shale	1056	1102
24	Shale	814	838				
10	Lime	838	848		T.D.		1102
56	Shale	848	904		T.D. of Pipe		1098
5	Lime	904	909				
5	Shale	909	914				
4	Lime	914	918				
6	Shale	918	924		·		
5	Lime	924	929				
9	Shale	929	938				
4	Lime	938	942			R	ECEIVE
17	Shale	942	959				
7	Lime	959	966			SE	P 15 20
13	Shale	966	979				MICH

KCC WICHITA





TICKET NUMBER	31449
LOCATION Eurek	a Ks
FOREMAN S	

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

FIELD TICKET & TREATMENT REPORT

620-431-9210	20-431-9210 or 800-467-8676				TAPZ# /	5-207-2789	6	
DATE	CUSTOMER #	WEL	L NAME & NUMB	BER	SECTION	TOWNSHIP	RANGE	COUNTY
8-5-11	4950	Wineray	4 4311		16	245	ILE	woodson
CUSTOMER			y — — — — — — — — — — — — — — — — — — —					
Figure 1	Pet Colemna RESS			}	TRUCK#	DRIVER	TRUCK#	DRIVER
					485	Alenn	<u> </u>	<u> </u>
1331	xxan Rd				611	Jack]	
CITY		STATE	ZIP CODE		452/727	TP		
Piana	-	KS	1		, , , , , , , , , , , , , , , , , , ,		 	
	ne sicine O	HOLE SIZE_	5 34	HOLE DEPTI	1/03	CASING SIZE &	VEIGHT	
CASING DEPT	0 4	ORILL PIPE			35		OTHER	
SLURRY WEIG	HT/ 3.54	SLURRY VOL_		WATER gal/s	k	CEMENT LEFT IN	CASING	
	NT 6.4 6625							
						inculation	with Eng	nerow di
Pume	300 # G-el	Flush	Shble we	citen 1	Nix 135 st	es GOLANO	Paz min	Cement
WITH 4	Kol-Seal.	4% GRI +	1% Cad	2.AT /	254, 54	uT dawn	wash a	UT
Pumo &	Lines, 57	SFF 2 Pl	ve Dice	place u	with do	4 bbls Fre	sh water	Final
Pumpin	- Pressur	5000.	Bumale)/ap /s	toos.	ShuT Well	ìn.	
	ement R							
		Jol Como						
	·			0	·			
		-1	Jan X	Va el			· -	
				- M. M.			<u> </u>	
ACCOUNT	T						1	

ACCOUNT CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
5401	1	PUMP CHARGE	975.00	975,00
		MILEAGE NIC 2nd well		
1131	135 sks	Letuc Poemix Coment	11.95	1613.25
4011	540 4	Kal-Seal 4# perisk	,44	237.60
1118B	465#	Gel 4%	.20	93.00
1/92	115*	Cacle 1%	.70	80.50
/1/8B	30 0 4	Gel Flush	•30	80.00
5407	5.80 70n	Jonnileage Bulk Truck	mic	330.00
55015	240	Water Transport	122.00	224.00
1123	3000gallans		13.69/000 EIVED	
4403	3	27/4 Top Rubber Pluy SEP 1	5 2011 8.00	56-00
		KCCW	CHI AL MADI	
			Tab ratal	37/8/5
		1 243118 232	2 JALES IAA	159.6
evin 3737	ml or		ESTIMATED TOTAL	3875.86

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account resords, at our office, and conditions of service on the back of this form are in effect for services identified on this form

Leis Oil Services, LLC

1410 150th Rd. Yates Center, KS 66783

Invoice

Number: 1001

Bill To:

Greg Lair Piqua Petro 1331 Xylan Rd Piqua, KS 66761 Date:

August 10, 2011

Ship To:

Greg Lair Piqua Petro 1331 Xylan Rd Piqua, KS 66761

P	O Number	See -	The state of the s	
· · · · · · · · · · · · · · · · · · ·			Project	1
				l
Date			Wingrave	l

Date	Description	Wingra	ve	
8-1-11		Hours	Rate	Amoun
8-1-11	Drilling for Wingrave 40-11 Cement for Surface	1,102.00	6.00	6,612.0
8-1-11	Drill pit	8.00	11.00	88.0
8-3-11	Drilling for Wingrave 41-11	1.00	100.00	100.00
8-3-11	Cement for Surface	1,102.00	6.00	6,612.00
8-3-11	Drill pit	8.00	11.00	88.00
3-4-11	drilling for Wingrave 42-11	1.00	100.00	100.00
3-4-11	cement for surface	1,102.00	6.00	6,612.00
3-4-11	Drill pit	8.00	11.00	88.00
3-5-11	drilling for Wingrave 43-11	1.00	100.00	100.00
-5-11	Cement for Surface	1,102.00	6.00	6,612.00
-5-11	Drill pit	8.00	11.00	88.00
		1.00	100.00	100.00
			Total	\$27,200.00

\$27,200.00

RECEIVED SEP 1 5 2011

KCC WICHITA

fd 81914

			·	- WONIA	V 1.7°	
	0 - 30 days	31 - 60 days	61 - 90 days		V	7
	\$27,200.00	\$0.00		> 90 days	Total	
ł		Amount of Amount towards the state of the contract of the cont	\$0.00	\$0.00	\$27,200.00	
						ĺ